RONIX POWER TOOLS

Premium Quality

27112

Www.ronixtools.com COrdEd ROtarv Hammer 720W



RONIX

Premium Quality

www.ronixtools.com

Number | Name Number | Name Number | Name

1 Front cap 31 Transmission case assy 61 Bolt ST4.2X22

2 Circlip 19X2 32 Oil seal 22X10X5 62 Air Guider

3 Slider 33 O ring 25.5X2 63 Stator clamp

4 Quick change clamp 34 O ring 63X6.8 64 Bearing 6000-2RS-DC
32X21X4 35 Felt plug 65 Washer 21.3X10X0.5

S Steel ball7.0 36 Control clamp 66 Rotor

6 Retainer ring 37 Spring 5.5X0.7X35 67 Brush holder

7 Spring 26.4X21.4X1.5X26 38 Movable pin 68 Spring

8 Gear case 39 Movable slotting pin 69 Carbon brush

9 Bolt ST4.2X35 40 Flat washer 5 70 Bearing 627-2RS-DC

10 Oil seal 35X25X7 41 Split washer 4 71 Corrugated gasket

11 Needle bearing assy 42 Bearing bracket 14.5%x22x0.2

12 Circlip 29X1.5 43 Bearing 608-2Z-DC 72 Stator

13 Clutch gasket 44 Bearing clamp 73 Motor housing

14 Spring 32.5X3.5X30 45 Bolt M4X12 74 Lever

15 Gear 46 Washer 13.2X8.2X2.8 75 Anti-dust cover

16 Cylinder assy 47 Gear 76 Switch

17 Oil seal 17.4X9.3X3.8 48 Rocker bearing 77 Cord clamp

18 Second stricker socket 49 Gear shaft 78 Bolt ST4.2X16

19 Second striker 50 Clutch 79 Cord sheath

20 Bushing 51 Gear 80 Handle cover

21 Rubber ring 23.5X13X3.5 52 Spring 7.3X0.6X30 81 Bolt ST3X10

22 Stop collar 53 Circlip 7 82 Auxiliary handle

23 O ring 9X3.5 54 Bearing 606-2Z-DC 83 Auxiliary Handle clamp

24 Circlip 28X2 55 Lock plate fastener 84 Bolt M8X90

25 Ram 56 Lock plate

26 (0] ring 16.25X3.18 57 Locking Button

27 Piston 58 Spring 4.5X0.5X50

28 Piston pin 12X21.5 59 Side knob assy

29 Washer 16X12X1 60 o) ring 17X2

30 Washer 33X28X1

POWER TOOLS

27112

Corded Rotary Hammer 720W



